1. Sketch a scatterplot displaying a...
a. Positive Correlation A4 b, Negative Correlation ’I\ \‘J c. No Correlation
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2. Determine if you would expect a positive correlation, a negative correlation, or no correlation between

the two sets of data.
a. A person’s height and the number of letters in a person’s name

NO COYTelahon ~ not related !

b. The amount of time you study for a test and the score that you receive.
WO €, the
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3. The scatterplot below shows the cost of phone calls Jeff made to his brother overseas in relation to the

number of minutes per phone call.
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According to the data, what is the relationship between the number of minutes of a phone call

and the cost of the call?

A As Jeff made more phone calls, the cost of the phone calls increased.

B~ As Jeff made fewer phone calls, the cost of the phone calls decreased.
As Jeff decreased the number of minutes on the phone, the number of phone calls decreased.
the phone calls increased.

y As Jeff i the number of minutes on the phone, the
) eff increased the nu 0 DL P
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4.
AJ\\,S;'H1e table below about the sales of jeans.
age
Price $21 | $26 | $28 | $32 | $36 $40
Number
sold 130 | 118 | 82 | 74 | 65 | 58

-

A) Create a scatterplot of the data, label the axes.

B) Write the equation of the lin

data. {_{ ﬂR€8 }

X%
o

e of best fit that represents this

\=-3.97% X+ 209

C) What is the correlation coefficient for this data and what does it

mean?- () _ 439 | |
Negatve correlahon, strong fi+

D) Use this line to predict about how many pairs of jeans would be

sold if the price was $45.

X= 46

ADOUt 2D jeoans
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5. The table below lists corresponding x-and y~values of a linear function.

What is the value of ywhen x = 5?

6. Which of the following usually represents a negative correlation? ‘ /I\
PS5 / Ice cream sales and outside temperature €M N jcecream
_i_ Someone’s height and how much they weight nd (RYY.

ne) @ Absences in a class and the overall grade in the class d¥YS€n €S ’f
m{) Temperature outside and amount of clothes worn 49y P/]\ clothes Yy

/ i only
B i only

X ivonly

Z. 1 and iii only
(D) ii and iv only
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Seven students werabout their video game time and their GPA. The table shows the survey
Fesuits.

Hours playing
video games

Calculate, using your calculator, an equation that best fits this data. Which of the following accurately
describes the correlation and causation for the data set? 1 =— |3 X tY4. 22

,K.’ Weak correlation: no causation
2 Weak correlation; likely causation
Strong correlation; no causation
D. Strong correlation: likely causation

no contmiled exp-
No CAL SAMOor

8. The table shows the average and maximum lifespan for some animals.

[r—— ——

Lifespan of Some Animals

Avg. | 12 | 25 | 15 8 35 | 40 | 41 | 20

Max. | 47 | 50 [ 40 | 20 | 70 | 77 | 61 | 54

a. Calculate the line of best fit equation for this data. \l: e 27 X + 22 . L* S

b. What is the expected average lifespan for an animal with a maximum lifespan of 45 years?

N=4Y9 X 1S dbout

9. Find the correlation coefficient for the following set of data. 19 (S

B "Number of pZOplé_
Per capita cheese who dled by
P ) becoming tangled
consumption s Bhali r — O q 6
bedsheets 9
327 | 29.8 |
— |
456 30.1
509 - 30.5
497 J ~ 30.6
596 31.3 |
- e — —
573 T 31.7 |
PR _ | _
661 32.6 |
741 J’ 33.1 ‘
- _ | I SEp——
809 32.7
717 | 32.8




11. A controlled EXperiment was conducted
you

and a negative correlation was found with the amount of free time
have and the num

ber of hours you work.

Negahve ASSOCiafign. wORe N FREETIMEV

WE CBN SQY TVIHL 1< & (aUSINON since Here
12. A tW S A contrlled experinent co ndo cted.
- A Slore noticed that

W shovels and the amount of snowfall were positively correlated.

T+ theve i more SNOW, +nen morve Shovel< ave <pld
NO caVSSNOoN - no contydlied esperiment.

13. During one month at a local deli, the number of pounds of ham sold decreased as the number of pounds
of turkey sold increased.

SN ndM §3S dorreasina cav ses uricey



